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PART : PHYSIC

1. If momentum of a body increased by 50% than percentace increasea mn Kinelic energy will be |
(1) 225 % 2y 125 % (3} 75% (4] 25%:
Ans.  (2Z)
Sol. KE=E_
2im
KE" = LE: =2.25 P - = change In KE = 2251 v 100 = 125%
2m 2m 1
2. For an electron & Prolon [me = 1B47me] with same de-Broghe wavalanath, the rate of their inear
momentum = aqual o :
{1} 12 2y 2 = 1847 3 1:1 (4) V1847
Ans.  (3)
h
Sol. o=
W

b — came So Powall also be same
SaPePa=1:1

4. If the wesght ol-an object on theearth surface < 400 N, then waight of the same abact at tha depth B2
froom surdace would be & (R 1s Badivs of earth)
(1) 100 N {2y 300 N (3} 200 M (4) 250 M
Ans. ()
T L e B
S‘ﬂl. .lq] h capt = | == ="1———"=—r
a hocepih g QI A g i
mg 408
My =w==—==—="200MN
s
4. Twia forees ol magnilude A & A2 act Perpendicular i each other, tha magniude of tha resultamt force ks
equal o
i =
v B 5 = .
(1) J= A& (23 22 (3} /5 A (4) 3 A
1z H > 1
Ans. ()
A2
A
r
Sol.
> A
| 2 [ 2 =",
e |
Mattorca F =024 [2 | oda2 A7 L ape L 253
| \ 4 Y 4 2
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5. Dimensions are !
Hpty
(13 LET-2 {2) LT-= (LT (4) MLT-
Ans. (1)

Sol.  Spoed= —pme

'|.'I Hy ey

1
s —— = (SpeadlF

Laky
& —— =[LT-E = LT
Mgk
6. Particle of mass 500 g has velocily ¥ =21 | + EIIE] m/'sal ime L if force onthe particle (s F = | + :-:; M at
time § =1 then find valus of x.
(1) 2 (23 (3 1 (4) &
Ans. (1)

Saol, V=21 + 3 i
Acceleration of the partiche o fime 1

dy 2 g
g =—=2 +61 |
dt

atlimet=1sec.a =2i +E;
So Force on tha particle will ba
F=ma

s F =052 +6))

(21 +6])

» F=Tl%3]
So valus of xis 3.

e

i

s Ml =

T Statement-1 : The kinelic enargy of a satellite is hall of its tofal mechanical anergy.
Statement-2 : Potental enargy of a satallite = double of its total mechanical energy
(1) Statement-1 and statemant-2 both are corract
(2} Statement-1 and statement-2 bath are Incorract
{3) Statemant-1 & cormect bul statement-2 s incomect
(4) Statement-1 ks incorrect and statemant-2 s correat
Ans.  {4)
PE

Sol KE=—(ME)=——
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Ans.

Sol.

Ans.

Sol.

10.

Ans.

Sol.

Correct graph betwaen alectric field & distance fram cantre of an Insulated unitormly charged sold sphere
3

W

W

(3 (4]

(1)

A nucleus X breaks inlo two equal Mucled ¥ (X252 - 2Y'3). Binding enargy per nucleon of X & Y Ie
76 MaY and B.1 MeaV respactively, than find the gain in binding energy

(1) 200 MeV {23 75 MaV/ (3} 121 MoV (4) 42 MeV
{3)
Gaimn in bending enengy = 242(8.1 — 7.6) MaVy

=242 = 0.5

= 121 kaV

An opanorgan pipe is vibeating in its second mode of vibration. The velocity aof sound is 360 m's_ If lkergth
of pipe 1540 cm find it's fequancy
(1) 300 Hz 125600 Hz (3} 500 Hz [4) 1200 Hz
{3
[V ja ¥ ___ 360
Loy L 40«10 -2
F =000 Hz

An object |s placed betweaen two parallel mirror as shiowrn. The distance of aobject from mirmor A 122 cm &
distance babwean mirrar 15 10 cm. Find the distance of second Image formed by mirror & from A ¢

e
-——

'.-l_i-E

10em
(14 & m (A 1&m (3} 18'm (4] 20 m
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Ans.  (3)

A
1 2 8
10
Sol.
| NS 12
m 22 28
12. Young's modulus of awire 12 1.6 = 107 N/'m? and longitudinal strain is 0.04% after applyimng load an wire
then potantial energy stored par unll volurme in die wire will be
(1) 4Jim? {2} 2.54 Jim? (3) 1.28 Jim?3 (4} 1.8 J'm?
Ans.  (3)

) i .
Sol. PE per unit volume = 2 siress = strain

¥ (Strain)®

= 1.6 = 107 = [ D004

(L R 0 P Y

w 1B = 107 =4 =4 = 10-8

1.6 = 8.« 10
1.28 Jim?

13. Cut-put of givan loglc gale will be

_
;j

Ans.  (2)
Sol.

t[j

3= |
5|
1]
'
a

|

———— LS

g D#
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14. If & particle has reclangular componems of itls velocity along a uniform magnets fisld & perpandicular o
the magnatic field than path of the paricle will be
(1) Helical (2} Circuiar [3) Straight line (4) Parabolkc
Ans. (1)
Sol.
W
W L
3
= B
W
WV

15. A traln s moving towards a stationary abserver with speed 1200 mvs & blows horm of freguency 300 Hz,
wind is also blowing lowards observer with speed 10 mvs. I spead of sound in still air is 330 mJ/s then find
frequancy of sound obeerved by obsarver :

(1) 300 Hz i2) 464 Hz [3) HE4 Hz (41 264 Hz
Ans.  ([2)
Bal: o VEVW)
i"nf—"ul'w] - 1'.1"5
=M‘x3m = itk < 00 =!—:rx3m = 5100 — 454 Hr
43 +10—120 bt | 11 11

16. Morment of inertia of 2 half uniform rng aboul an axis Perpendicular (o s Plane & passing through 15

centre is i MEE. Find value of »
X

(1)1 i2) 2 (3) 4 (4) 3
Ans. (1)
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17. The Area coverad by 2 ransmilting antenna of kaight 98 mis

{1} 4250 km= 2} B252 km? [3) 3842 km? (4} 6324 lm?
Ans.  ([3)
Sol. d=+/2AK

A = o = z[2RBh = 2zBh

=2« B400 & 107 « 98

=2« 227 « Bd 98 « 1(F

=39424 = 105

=A742 4 = 10° m*®

= 3942 km?

18. An electric dipole of dipole moment P = 6 = 10 C-m s rolated from stable equilibrium 1o unstabde
equilibrium in uniform electric field, E =32 = 10=2 Volt'm. Galculate work done-against electiic field in this
process.

(1) Bmd (23 12 md (&) 18 md [(4) 24 md

Ans.  (3)

Sol. 8=
H2 = 1807
W= U =Lk = [-PE cos 180°) —{—PE cos.07)
=2PE
=2 u G« 10% 2 32 = 107
=18 = = J=18 md

18. Two projectles projected with speaed 40 mis-and 60 mvs-at an angle of 30° and 807 recpectivaly. Find
ratio of horizontal ranges of twa projectles {g = 10 m's®) al the earth seface s

4 4 ! 5
1) = [2) = 3} = A} -
(1) 5 { ; (3] 5 (4} r
Ans. (1)
2
Sol. For = projectile By = by
0
25 20 x 2043
s e
: 10
For 2 projectila
_2x30<3043
: 10
L U,
Ha 8
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20.
BL2

Find ratio of potantial difference across capacitor ©; and Gz for given clrcuit,

. 4 2 | L
(1) — 21— 3 = 4) =
L =] = 1) 5 ] 5
Ans. (1)
Sol, Ver=i[B+2 =8|
Vez=l (258 =10
v B8 4
S L LI = — = P -
%y, 10010 5
21. Magnalicintensity in long solenold iz 4 A-m®, the number of turns per unit centimeatre length (s B, Calculate
currant in solanaid :
(1} 25 mA (2350 mA (3) 7.5 mA (41-4.0 mA
Ans. (2}
Sal. B = ponl
Nl = E‘.‘l,l,lj: H
[=Hn= = = 5_0mA
Bx10®

22, A wire has a mass (0.3 £ 00034, radius (0052 0005 mm and length (0.8 £ 0.008)cm. Thamaximum
percentage error in the measuremant of density 1s :

(15 1 (2) 2 (33 (4) 4
Ans.  (4)
Sol. I._—_Iﬂ_ﬂlul-* R
f Lm ArRes A
= & I::I_.l:'l_ﬂlré Le E.I'ld.glj_t:l £ _L.I-.I:llgtz I_.c 1|::||:I =+t l1 3+ E +1.|'1'-¢.= g7

| 0.3 05 06 |
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23. In L-C oscillator

L=14mHand C=1.2 g If maamum charge on capacior 15 2.7 pG than find maximum cument In circuil

(1) 35 m& 12} 65 mA (3} 75 mA {4) Bmb,
Ans.  ([Z)

Q
Sol. b
VLG
57 2.7 2. Fx i’
= T : - —. - — LLlul
V14410 *«12:10 * 16810 ™ 4.1

- 0658 = 105 = 10-5 A = 85 mA

24. Current passing In a copductor s 2 ampere. If free electron density s n = 2. = 107 per m? and cross
sectional area s 25 mm=then fird drilt velocity of electrons;

(1) 5 » 10°F mis (2 15 = 105 m/s (3} 25 « 1075 mv's (4} 50= 105 mis
Sol. [ = nadvs:

T 2

- naA 210" 21610 Fx25=10°

=26 x 10-Fmis
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